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Autocorrelation of a stationary process Autocorrelation of a stationary process X(tX(t) ) 

AutocovarianceAutocovariance of WSS process of WSS process X(tX(t) ) 
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For real processesFor real processes
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CrossCross--Correlation of jointly WSS processes Correlation of jointly WSS processes 

If If Z(tZ(t) = ) = aX(taX(t) +) +bY(tbY(t) and X,Y are jointly WSS ) and X,Y are jointly WSS .

CrossCross--CovarianceCovariance
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Properties of Correlations Properties of Correlations 

Properties of CrossProperties of Cross--CorrelationCorrelation
.
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R(R(ττ) is positive ) is positive 
definitedefinite
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Power Spectrum WSS Process Is Defined AsPower Spectrum WSS Process Is Defined As

Fourier InverseFourier Inverse
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Variance of XVariance of X
.
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SymmetrySymmetry

G. AhmadiME 529 - Stochastics

Cross Spectrum of WSS Processes Is Defined AsCross Spectrum of WSS Processes Is Defined As

ττ = 0= 0
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Inversion Inversion 
FormulaFormula

If X, Y are If X, Y are 
orthogonalorthogonal
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